Sets Y

OOOOOOOOOOOOOOOOOOOOOO0ROS  Problem set 1 oooao0a00000000OOOOOOOOOOO

(1) Choose the correct alternative answer for each of the following questions.
(1) If M={1,3,5}, N=1{2,4,6},then M N N=7?
(A) {1,2,3,4,5,6; (B){1,3,5} (O)¢ (D) {2,4,6}
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(i1) P= {x | x is an odd natural number, 1 <x < 5}

How to write this set in roster form?

(A){1,3,5  (B){l,2,3,4,5] ©) 11,37 (D) 13,5}
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o (o =1
| — -L 9,2 ]

o pEPon @

S




() P=4{1,2,........ , 10}, What type of set P is ?

(A) Null set  (B) Infinite set

(C) Finite set (D) None of these
Sol"%~ Rexe ,
P < -f_l, 2,3, - lo}
Aes the clewmentsS of gebt P arxe countoble,

the set P’ §s £fnite best.
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av) MUN={1,2,3,4,5,6} and M = {1, 2, 4} then which of the following
represent set N ?

(A) {1,2,3} (B){3,4,5,6} (C){2,5,6} (D) {4,5,6}
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(v) IfPC M, then Which of the following set represent PM(P U M) ?

(A)P (B)M (C)PUM (D)P'mM
Solns- let | P = f |, Q_j
<? mn = { [, Q—/ 3}




pum = { 1,2,3]

PO CPpum) = { (,’L?[

PO (PUM)= P
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(vi) Which of the following sets are empty sets ?
(A) set of intersecting points of parallel lines (B) set of even prime numbers.

(C) Month of an english calendar having less than 30 days.
D)P={x|xel,-1<x<1}

Sol®s-
Set of M{-,ew‘gec%)ohg Po?nts of Pm’o.llel
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(2) Find the correct option for the given question.
(1)  Which of the following collections is a set ?

(A) Colours of the rainbow (B) Tall trees in the school campus

(C) Rich people in the village (D) Easy examples in the book
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(1) Which of the following set represent N M W?
A){1,2,3,...} (B){0,1,2,3,..} (C){0} (D){ }

Sol®o-

(i11) P= {x | x1s a letter of the word ' indian'} then which one of the following is

set P in listing form ?

(A) {i,n,d} (B) {i,n,d,a} (C){i,n,d,1,a} (D) {n,d,a}

P = i 2 [ s o Jettex of the woxd
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av) f T={1,2,3,4,5} andM={3,4,7,8} thenTU M =?
(A){1,2,3,4,5,7} (B) {1, 2,3,7, 8}
(C) {1,2,3,4,5,7, 8} (D) {3, 4}

Sol": -

(3) Out of 100 persons in a group, 72 persons speak English and 43 persons speak French.
Each one out of 100 persons speak at least one language. Then how many speak only

English ? How many speak only French ? How many of them speak English and French
both ?

Galn:- Lef,

U= Set of totadl peAEONs N & 9YOup

= get of persons who speak English

B = Set of persons who 5Pin.k French.

Nn(U)= oo = n(AUB)
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Now ,

NCA)Y + NCB) — n (ANS)

N CAUVE) =
10 = F2+43 - » (pOB)
| oo = IS5 - ﬂCA[\B)
NnCANB) = 115 —1060O

N(ANB) = IS

a.nd French bLoth  are 15

English =

I
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(4) 70 trees were planted by Parth and 90 trees were planted by Pradnya on the occasion of

Tree Plantation Week. Out of these; 25 trees were planted by both of them together. How
many trees were planted by Parth or Pradnya ?

~Sol"s- Leb,

A = Get of trees planbed by Parth.

8 = Get of Lyees planted by Pradnya.

NCAY = FO0

Nnee) = 90

n(ANB8) = 25

Now , Noembey 0f <+{vyees pleanted b:,f P ox +h

oY Prodnyoe = N (AUB)
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N(A) + NCB) — n(ANB)

()

+0 +90 ~ 125

= 60 —25

- 135

(5) Ifn(A)=20,n(B)=28and n (A U B)=36then n(A M B)=?

501" .- NCAp) = 20

NnCcB) = L8
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NnNgANB) = 2

Noh)l

N(AUB) = NCA)Y + NCB) — NLANB)

26= 20+28 — N (CADSB)

%6 = LQ- NCADNBS)
nCADBR) = L8 -3¢
nh(AOE) = 12

(6) Inaclass, 8 students out of 28 have only dog as their pet animal at home, 6 students have

only cat as their pet animal. 10 students have dog and cat both, then how many students
do not have a dog or cat as their pet animal at home ?

60[":“ Let;

U = Set o0f total noembexr of otudents

in o class

A = Set 0f gtudents

who bave dog

as bhely pet animal

B = 5eL 0f gtudents who bave Cat

s bheiy pet anfmal.




NCU) = 2@
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(e b ©)
\V)‘K/ NCA) = 8+ (0 = 18
AnB8 =10
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N(AUB) = NDCA)Y + NCB) — NLANB)

= |8 +16 —10

- 84-10

NCAUB) = 9L

Nonber of Students who do mot have
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(7) Represent the union of two sets by Venn diagram for each of the following.
()A={3,4,5,7} B ={1, 4, 8}
(m)P={a, b, c e f} Q={/, m n,e b}




(111) X = {x|x 1s a prime number between 80 and 100}
Y= {y| yisanodd number between 90 and 100 }
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(8) Write the subset relations between the following sets

X = set of all quadrilaterals Y = set of all rhombuses

S = set of all squares T = set of all parallelograms

V = set of all rectangles

Sol®:- Heve

el of odl c{uaJTf[aEeTo.ls
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X

¥ = 8Get of oll whombuses

S = St of all 8 qUares.
T = ocelt of oll f)cx’f&“e\o\ql Yoms
V.= Get of oll teckongles
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(9) If M is any set, then write M U ¢ and M M @.

SolP%- Let,

(10
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Observe the Venn diagram and write the

given sets U, A, B,A U Band A M B.

Solh.- ~
U=41,2,3,4,5%,8,9, 0,11, 13}

PS:' {l/l,g,s,?}

S, 1,5,%2,9,lo




pue = {1, 23,5,%,8,9, 10}

: (A If n(A)=7, n(B)=13, n(AMB)=4, then n(A UB}=7?

Sol”i-  Hexe,

N(AUB) = NCA) + NCB) — NLANB)

l)

T+ 13 — 4

20 — 4

hCﬁU2>) = | 6




